_______________________________________________________________

Excel Assignment #4 – Spring 2021
Please read carefully………To complete this assignment you must also download the excel spreadsheet from the webpage.  It contains data from the Economic Report of the President on Nominal GDP and two measures of the money supply (M1 and M2).  As always, follow the directions for the exercise and then answer the questions that follow.  Make sure you turn in both your spreadsheet and your answered questions.

________________________________________________________________ 

Step 1:  Download the spreadsheet that accompanies this assignment.  Carefully examine the data on nominal GDP, and the two money supply measures.

Step 2:  We know from the Quantity Theory of Money that:



MV=PY


Or
V = PY/M

We also know that two different assumptions about velocity are made.  Either it is fixed (or highly predictable) or it is variable (as in the Keynsian Model).

· Calculate the value for M1 velocity using the figures for M1 from the table

· Calculate the value for M2 velocity using the figures for M2 from the table

· Carefully examine your numbers.

· At the bottom of your two columns labeled M1 Velocity and M2 Velocity, use the =stdev(range) command to calculate the standard deviation of both measures of velocity.  Likewise, use the =average(range) command to find the mean (average) of both values.  Finally, divide the standard deviation of each by its respective mean.  This gives you a measure of variability known as the coefficient of variation, which is comparable across samples!  Which measure of velocity is less variable?

Step 3:  Graph your values for both M1 and M2 velocity on a single x-y graph.  Carefully note any differences.

Questions:
1. Which value, M1 or M2, is greater?  Hint:  What assets are in M1?  In M2?
2. Which value, V1 or V2, is greater?  Explain why.
3. What happened to velocity as a result of the Great Recession?  Why might this be true?  If people are spending the same amount or more (GDP is rising), how can velocity be lower?

· Logically, what are people doing that results in a lower velocity?

4. Given your answer in 3), why might the Federal Reserve have drastically increased the money stock since 2009?  Bernanke (the former Fed Chair) has been criticized for the amount by which the money stock was raised.  Was he a genius or did he make a mistake?

5. Given you numbers and your graphs, if the Fed wants to use monetary policy changes to affect nominal GDP, should it be looking at M1 or M2?
